Thursday 11.06.2020
Fluent in Five
1. 24 ÷ 6 =
2. 96 ÷ 3 =
3. 109 = 53 + __
4. 0.8 + ___ = 1
5. ¼ of 88 = 
Times Table Rockstars
Spend 10 minutes on TT Rockstars (ON SOUNDCHECK PLEASE!)
Maths Task – Dividing 3-digit numbers by 1-digit numbers1)
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The children have been solving the calculation 992 = 7.
Explain what is the same and what is different about
their calculation methods.

Mateus 992 = 7 =141r5

700 = 7 = 100

280 = 7 = 40

Olivia

700 + 7 = 100
210 + 7 = 30
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2) Complete the calculations using the part-whole model.

a) 684:5= € 977:6-=
b) 739:8-= d) 47:4=

Solve this word problem using part-whole models

and flexible partitioning

A farmer is harvesting the fruits from his orchard and
packing them into trays of 8. He picks:

bsm apples ‘ 992 pears

a) How many full trays of each fruit will the farmer

. 708 plums

send to the supermarket?

b) What was the total amount of remaining fruit?
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Which calculation’s answer is closest to 300? Prove it!

a) 648:2-= b) 999:3=
c) 848:8-= d) 896 4=
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